<EH HT>

(991 5l ()eke 9]

T 2 Z =9 (99)
= 200(100)
AoDR 18 SgicH|
MRS O L SN, WESIAE SgicH|
SAHE, 2D 150(50)

= NSEY, FuQg oF 150(50)
g g2 ] ] _ ] 20(10)
ASQIRIG AR, HHSHOIOIZS|00| £MEON MDA & M2PRF A
>3 = 20(10)
NPSET, ARR A5 22E, AUSOE, S%9s 2o, Fuias 139 &, 20010)
T} | BEINOIRIN OIRICHINEILE, OEXIMoIRIBoBIE, SEIAAE o SECE, ool
2 22 PRE(E) ARY(E) 10
A 22 2125|(2)2 2AAT(B), ZLA, SOHO 5
2%(3) 5
S22 3
2X(2) 2
N EEE) 1
SEEENEEE] 0.5
N-EE2 215 100(50)
219 X HQRAT U X2[HH 10
NS A SLHHOIRAME] o& U FO/F 20(10)
R 5
A 213 2I¥3I(2)9 ARI(S) 5
NEHE, HHAN [(H0l(ZTAX) 5
22 23I(2)0 2R 3
E |2z 29629 22(E@) 1
3T 223 5
22X 3
3 | REE) 2
7 | ABE). FUE) 1
Z | RSAPEEN 1
NEEEERESEE 0.5
X o9als] AUDSY 12 Sgg|
S0 YASOIG|E 0.2
N-CE R, XA 0.2
NEEE] 0.2
=S 200
2227 150
25|20 % 200
P 150(100)
| 23AUSE, AERIAF 100
230/ 75
A | JIEEHE, ZAAZoEE 50
PR T EEEERPE SRS 20
- B ESCEEE 10
| B8 SE ZHT 13 60
o 23X S= HMOIA9IR 22 40
3 [ 35m == yuoinge 32 30
A [ 28E =2 FHopA 42 10
252 S= FHMoipgel U HEIXQR 52 0/a 1
23|09 P2 3
2302 MBI 2
25/0/2 HIA2 1




